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public static void main(String][ ] args) {
PollingThread thread = new PollingThread(100);

import  java.io.*; thread. start()
import java.util.* [ 5 BB thread 572 % =0 > ek 222 » BFEFH> Ik 2Pl dsk
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public static void main (string[] args) {

FilelnputStream inFile = null;
FileOutputStream outFile = null; }
try { public class PollingThread extends Thread {

private int num;

inFile = new FilelnputStream(”Test.txt™); orivate double sum;

outFile = new FileOutputStream(” Test.txt.bak”); private boolean done = false;
My — F25¢ P B K- Testixt ksl 0 > T B %EY public PollingThread (int num){
' this.num = num;
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catch (FileNotFoundException e){ ?u ic Boolean isDone()
System.out.printin(e.getMessage()); } I3 - YRR 4287 g7 thread 2.7 7 % &
catch(IOException e) {
System.out.printin(e.getMessage()); } 2552
finally {
[T- 3238 B R A RB - BAREMP B2 A XL T 5 2 W B m 2 }
/[Try Catch e 3% % g2 public double getResult()
{
e n e /I3 — # g & getResult = 72 » a3 287 UBERHFLESE
PRy
}
¥
3 ¥
¥

(FFfedE N H]



B [ B 6) e FARsN » #4527 75 i 1 [20 &)
) ERHE o aE () EAIF (% F6) &1 5 0.5% Al ~"0.5")
e (& )o
(=) BERE M lfcldd ¢ 87 A flio %
(DF £t 5+ = S r FAd & Eq15 0 20 ge () 95T (FR» 8
£ .\.;‘cﬁe.]% ’ gﬁgfﬁf* A 4o [B6@)), [B6(0)]:
(2)#-2+ 5 % % ko7 A id="total"ch % P+ 4 [ B 6(c)] -
B o AN kg x (14 fI5)PE
W RS FAIR - Higis(E) REEEES

A2 EEARS
£ ¢ |10000pp =
%2105

Higy - 5
FTEAFIR
AR

G
3 e
(-

[®6(a)]

B A B HEig(E) FESESEER
22 1 [10000 FRE BEART

T |
5B 5

sTEAFIR
AR ¢

[ ® 6(b)])

FA ¢ A R ST

A4 ¢ 10000

=0

HAgYy : 5

L0

AFFD : 10252512531 -+

[# 6(c)]
FETT SR T AR A iy B B~ 425545 (" JQuery+JavaScript 45 £ ) 0 ot &
HPEH R 0 PR
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https://ajax.googleapis.com/ajax/libs/jquery/3.1.1/jquery.min.js
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<html>
<head>
<title> TEST HTML Interaction With JAVAScript </title>
</head>
<body >
<p>EEA ¢ AE AR BEIE(E) </p>
<form>
A4 1 <input type="text" id="money" value="10000"><br>
HFEFZ ¢ <input type="text" id="rate" value="0.5"><br>
HA#YL @ <input type="text" id="years" value="5"><br>
<input type="button" value="g&.AF|F1" onclick=""comp()"'>
</form>
<div id="total">
AFIAT :
</div>
</body>
</htmlI>
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